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Please make sure that the printed pages in this
question paper are 16 in number and it contains
35 questions.
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The Code No. on the top of the question paper
should be written by the candidate on the front
page of the answer-book.
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Before beginning to answer a question, its Serial
Number must be written.
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Don’t leave blank page/pages in your answer-book.
o FurydE % GlfaRFT #E o e TE A o

STETEAIFE & [Td ST feorer FaY 7 e

Except answer-book, no extra sheet will be given.

Write to the point and do not strike the written
answer.

o GOETE ST AT To FIT-YH YT a¥T [ig)
Candidates must write their Roll Number on the
question paper.

oy 97 F FIT 37 @ g7 I8 Ged BT [ JeT-H
g7 g @& & ThEr # W 3 99 7 #HE A aar
&I TE AT T

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.
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FT GITE qglaHeHT 97 81 9% 797
1 9% 7 8

GUE ‘g’ : 39 @ F §97 &7 17 @ 26 %
BT G J97 & JA% 597 2 SH F
.
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G ‘G ;59 € § o7 g&g 27 @ 31 7%
FT T J97 &1 JAF FIT & STH B

&

€ ¢ 57 @ § §97 §&q 32 § 35 7%
G AR J97 &1 J9% J97 6 STH F

&/

(i) @€ G 7 @ g7 F opikE Qe Rar m@r &
ST TF [T G 81

General Instructions :

(9
(%)

All questions are compulsory.

This question paper consists of 35 questions
which are divided into four Sections : 'A’, ‘B,

'C' and 'D' :
Section A’ :

Section B’ :

Section 'C':

Section D' :

This  Section consists of
sixteen multiple choice
questions from Question Nos. 1
to 16, each of 1 mark.

This Section contains ten
questions from Question Nos.
17 to 26, each of 2 marks.

This Section contains five
questions from Question Nos.
27 to 31, each of 4 marks.

This Section contains four
questions from Question Nos.
32 to 35, each of 6 marks.

(iii) Section 'D' contains two questions in which

1031

internal alternative choices are given. You
have to attempt one alternative.

P.T.O.
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gug -
SECTION - A
e x=11,2,3,4,5,6,7,8,9, 10, 11, 12} T% g

T & I A=1{3,6,9, 12} 3R B={4, 6, 8, 10
12} @ (B-A) & :

(A) {4, 8, 10}

(B) 3,9}

(C) {1,2,3,5,6,7,9,11, 12}

(D) {1,2,4,5,6,7,8, 10,11, 12!

If A=1{,6,9, 12}, B= {4, 6, 8 10, 12} and
X=1{1,2,3,4,5,6,7,8,9, 10, 11, 12} is universal
set, then the set (B—- A)' is :

(A) {4, 8, 10}

B) {3,9

(C) {1,2,3,5,6,7,9,11, 12}

(D) {1,2,4,5,6,7, 8,10, 11, 12!

I G =17, 8 M H=1{5,4,2, A Gx HD

U=l d e © 1
(A) 6 (B) 16
(C) 32 (D) 64

If G={7, 8 and H = {5, 4, 2}, then number of
subsets of G x His :

A) 6 (B) 16
(C) 32 (D) 64
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[ A A I TEE B A A9 BE W 65° A 110°
F HOT TG 5, I gl B Bl B OFIA 0 ]
(A) 22:13 (B) 13:22
© 1:1 (D) = & HE &

In two circles, the arcs of same lengths subtend
angles 65° and 110° at the centre. The ratio of

their radii are :
(A) 22:13 (B) 13:22

< 1:1 (D) None of these

. T sinx=% @Txma@ﬂﬁﬁﬁ%,ﬁtanxw

9 & : 1
7 24

(A) 4 (B) j=
~7 ~25

(& oV (D) 7

The value of sinx = %, x lies in 2nd quadrant,

then the value of tan xis :

7 24

7 -

-7 -25

) -y
P.T.O.
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1 .
Pl conjugate) ¥ : 1
31 2; B 93 (conjugate)
(A) 3 +4i B) St
25
(C) 3-4i (D) FH & &5 T
The conjugate of - is:
3+4i
(A) 3+ 4i B) >*H
25
(C) 3-4i (D) None of these
. o DX Xt ) ey 1
2 4
A) x>1 B) x=>1
) x<1 (D) x<1
The solution of the inequation 3x-4, x;rl -1
is :
A) x>1 B) x=>1
C) x<1 D) x<1
qﬁ ncg = an, Eﬁ ncl7 CARIEE % : 1
A) 17! B) 17
(C) 1 (D) H § HI3 &
If "Cy = "Cg, then the value of "C;; is:
A) 17! B) 17
c 1 (D) None of these
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gﬂﬁﬂ?%ﬂﬁ1+3+g+ ............. 3 WA 5 W A
g 1
19 211
(A) 9 (B) I
25 .
(C) 3 (D) FH & &3 T
The sum of first 5 terms of geometric series
1+2+i+ ............. 1s
9
19 211
(A) ry (B) 8L
(@) 23—5 (D) None of these
/g (0, 2) & T R xaxis & @Y 60° &H &H
ST arell @M FHET © 1
(A) y=+3x+2 (B) y=+3x-2
_ L P
(@) y—\/§x+2 D) y \/gx 2

The equation of the line passing through (0, 2)
and making an angle 60° with x-axis is :

(A) y=+Bx+2 (B) y=+B8x-2

-1 =1

©) y—\/§x+2 D) y \/gx 2
P.T.O.
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Rg (-1, 1) 1 WM 12x-5y=9 A g0 & : 1
(A) 26 (B) 8
€ 2 (D) O

The distance of the point (-1, 1) from the line
12x-5y =9 is:

(A) -26 B) 8
) 2 (D) O
3 5.2
lim X~ Hram Y 1
x->2x“-5x+6
(A) O B) 4
(C) -4 (D) 9 & Hi T8
3 5.2
The value of limﬁi is :
x=>2x° -5x+6
(A) O B) 4
c -4 (D) None of these
3cot x + 5cosec x H x b GUY TGHAT B : 1

(A) 3cosec? x + 5cosec x cot x

(B) 3cot? x + 5cosec? x

(©) —3cosec? x — 5cosec x cot x

(D) ¥ | BE &

The derivative of 3 cot x + 5cosec x w.r.t. xis :

2 x + 5cosec x cot x

B) 3cot? x + 5cosec? x

2

(A) 3cosec

(
(C) —3cosec”x—5cosec x cotx
(

D) None of these
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_ 1 dy
13. R y_ax2+bx+c’ il dx ¢
2ax+b 1
A (ax? + bx +¢)? (B) 2ax+b
—(2ax +b)
(€0 (D) (ax? + bx +c)?
_ 1 ay .. .
Ify_ax2+bx+c’ then T is :
2ax+b 1
4 (ax? + bx +¢)? (B 2ax+b
—(2ax +b)
© 0 ) (ax? + bx +¢)?
14. IR f(x)=4 x X777, d lm f(x) AT S : 1
0 x=0 x—0
(A) O B) 1
(©) -1 (D) SR § &
Ixl x#0
If f(x)=1 «x , then lim f(x) is:
0 x=0 x—0
(A) O B) 1
c) -1 (D) Does not exist
1031 P.T.O.
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Jdel 14, 17, 18, 19, 20, 22, 23, 27 & TH &
ey Aqrey femee ® 1
(A) 20 (B) 0

(C) 3 (D) 14

The mean deviation about mean of the following

data 14, 17, 18, 19, 20, 22, 23, 27 is :

(A) 20 (B) 0

(C) 3 (D) V14

I uh g B A9 9] I\ 9@, @ 1 T iR 2

Te TN Hl iR R 1
1 1

(A) > (B) .
1 3

C) = (D) 3

If a coin is tossed thrice, then the probability of
getting 1 Head and 2 tails is :

(A) (B)

1
2

1

(C) (D)

W D=
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guE - §
SECTION - B

500 HN @ al § 400 3 UE HX A X 200 &
UH %R B 31 e &R Al & 99 a9 JBR A SR
B & g ? 2
Out of 500 car owners, 400 owned car A and

200 owned car B. How many car owners have
both car A and B ?

s g 6 - 2

COS(E - xJ cos(E - j - sin(E - xj sin(E - j = sin(x +y)
4 4 Y 4 4 Y 7

Prove that :

cos(E - x] cos(E - j - sin(E - xj sin(E - j = sin(x + y)
4 4 - 4 4 Y v

19.

20.

1031

chsx:—%wwwaﬁaﬁm| 2
Find the general solution of the equation
CoSs X = —l.
2
1\° .
(zxz—gj % JOR § HeA T8 S Hio| 2

Find the middle term in the expansion of

(2x2 - lf .
3

P.T.O.
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24.
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AP. 25, 22, 19, ......... % HB T& & A 116 B
SHAP. ¥ fpa wg B ? 2
The sum of a certain number of terms of A.P.
25, 22, 19, ......... is 116. Find the number of
terms.

X y2

69 ! Bl bl S BTG 2
Find the eccentricity of the hyperbola

2 2

X _ Y g
16 9
W x-2y+2=0 A x+3y+4=0 B oI H
FHIOT ST i 2

Find the angle between the lines x-2y+2=0
and x+3y+4=0.

g% y:(7x+6tanx)x5, al il—di ST I 2

If y=(7x+6tan x)xs, then find il—dz

& SREARAT det & e % (C.V.) 30 R 50 B
I H Y99 fee FEs: 12 iR 15 B @ %
THIAY |17 SA it 2

If coefficient of variation of two distributions are
30 and 50 and their standard deviations are 12
and 15 respectively. Find their arithmetic means.
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 dd F 2 whe R 3 AW W ¥ 2 W amsw
frerlt Sl 1 1 o R 1 A e o @ i
S ifoTy| 2

A bag contains 2 white and 3 red balls. 2 balls
are selected at random. Find the probability of
getting 1 white and 1 red ball.
gig - 9
SECTION-C

ﬁ@’zﬁﬁmﬁa 4

sin5x —2sin3x + sin x
cos5x —cos x

Prove that :

=tanx

sin5x —2sin3x + sin x
cos5x —cos x

T X % s § R s 4

nn+1)(n+2)
3

Prove by the principle of mathematical induction :

=tanx

1x2+2x3+3x4+...... nn+1)=

nn+1)(n+2)
3

I1x2+2x3+3x4+...... nn+1)=

TH AP. 3 n G&l & I 3n+5n g gt IEH mal
T% 164 B, A m H AF ST BN 4

If sum of n terms of A.P. is 3n? + 5n and its mth
term is 164. Find the value of m.

P.T.O.
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P(2,-3,4) X O (8,0, 1) F M ari @ | TH
fg R RTE® x-coordinate 4 3 fhdll STUM # frsiom
A 81 g R % Fewi® o #ifvm a8 orgua ot 7
Fiog fEd R, PO &I Wi &< 21 4
A point R on line PQ with x-coordinate 4 divides
the line joining P (2, -3, 4) and Q (8, 0, 1). Find

the coordinate of point R. Also find the ratio in
which R divides PO.

AXFOSINX o B Y TS BT 4
X+ 7cos x
Differentiate —4x e w.r.t. x.
X+ 7cosx
gvs - T
SECTION-D
ﬁ?@' Elﬁﬁlﬂ 5 6
(cos x — cos y)2 + (sinx — siny)2 = 4sin2(_x ; yj
Prove that :
(cos x — cos y)? + (sinx —siny)? = 4sin2(x ; yj
AYqr
OR

FHBTT sec?2x =1-tan2x & J& &7 AR AH
B A I

Find the general solution and principal solution
of the equation sec?2x =1-tan2x.
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W3 ++/2)* + (W3 —/2)* T WM T B 6
Evaluate (v3 ++/2)* + (/3 =v/2)*

AYAT
OR

zn%[zhilJ % war & wrow @ 57 ol ofq & 54
34
TEl B YU V6 :1 &, A n F A QA B

If the ratio of Sth term from the beginning and
Sth term from end in the expansion of

n

1

[24 +i1} is /6 : 1. Find the value of n.
34

i XU 1 & i e i & Pk, S

AR T @ T S it 6

Find the coordinates of foci, vertices, eccentricity

and length of latus rectum of the ellipse

x2 y2:1'

25 4

P.T.O.
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35. g IRERar §eF @ W AR YW faeee

(S.D.) 3G HiT : 6
-7 | 70-75 | 75-80 | 80-85 | 85-90 |90-95 | 95-100 | 100-105
TRERAT 3 4 7 6 5 3 2

Find mean and standard deviation of the following
frequency distribution :

Class-Interval | 70-75 | 75-80 | 80-85 | 85-90 | 90-95 | 95-100 | 100-105
Frequency 3 4 7 6 5 3 2
1031
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